Kopings BS

Sommar 5 Hcp/Scratch 2022-07-12

SCRATCH

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéang % Namn MID Klubb
1 9 168.0 58.33 Thomas Ekendahl - Barbara Ekendahl 17307 52284  Arboga BK
2 11 163.0 56.60 Ann-Marie Uddgvist - Britt-Lis Elf-Lantz 17373 53560 Kopings BS
3 6 160.0 55.56 UIf Nilsson - Bo Forslund 11234 8014 Arboga BK
4 14  159.0 55.21 Ove Gustavsson - Vilnis Indersons 21398 2644 Képings BS
5 3 156.0 54.17 Pererik Akerberg - Sivert Hedstrém 2650 37561  Kopings BS
5 4 156.0 54.17 Lars Pettersson - Rigmor Stridsberg 8229 9813 Arboga BK
7 2 155.0 53.82 Maria Gron - Lars Marjoniemi 28267 14508 ABB BK - Hallstahammars BK
8 8 150.0 52.08 Borje Karlsson - Per Strengbom 13521 67302  Kopings BS
9 12 146.0 50.69 Gisela Sjoholm - Lars Lundgren 53325 10275 Arboga BK
10 13  144.0 50.00 Ann-Christin Steen - Jan Filling 68352 68505  Kopings BS
11 1 142.0 49.31 Birgitta Samuelsson - Irene Larson-Axelsson 15036 68507  Kopings BS
12 7 116.0 40.28 Eivor Bladh - Siv Bjork 14545 68730  Kopings BS
13 10 115.0 39.93 Jan Larsson - Margareta Hedman 46385 200915 Kopings BS
14 5 86.0 29.86  Karl Kraft - Sven-Olof Eriksson 57951 46381  Kopings BS
1 4 K543 Basta kontrakt 2 4732 Basta kontrakt 3 4 KKn63 Basta kontrakt
Nord v Kn9 4v O =-420 Ost v Kn95 2NT S =120 Syd v 953 34 V =-140
Ingen + D1032 NS + E10742 ov + E63
#DKn5 & ¢ v & NT *43 & ¢ v & NT #1094 & ¢ v & NT
s E 4 Kn107 N4 4376 4KD54 4 Knl06 N7 956 8 4 E109874 452 N27 834
vE872 vK1043 S 44376 v K10 v E87642 S7 956 8 vKn10 vE2 S277 34
4954 ¢ KKn87 O 8 9 105 6 + D65 ¢+ Kn 06 47605 +5 + KD97 O 106 5 9 7
£106432 #E9 vV 8 9 105 6 #DKn95 4762 V647¢675 #EKKn3  #D8762 vV 106 5 9 7
# D9862 ~E98 D
v D65 vD3 vKD8764
+E6 + K983 + Kn10842
*K87 #EK108 &5
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 5 24S= vA 110 120 00| 2 5 INS+3 5 180 120 00| 3 6 44 V-1 T 100 11.0 1.0
9 10 3¢ O-1 46 50 100 2.0(12 7 3¢ N+1 «7 130 100 20| 9 14 3+ V-1 v9 100 11.0 1.0
3 11 24S-1 *4 -50 50 70| 3 11 INS+1 «9 120 80 40(13 2 3vS-2 *A -100 8.0 4.0
4 6 24S-1 *2 -50 50 70| 8 14 4vO-2 A 100 50 70 1 8 24V+2 v3 -170 50 7.0
12 7 24S-1 ¢7 -50 50 70(13 1 24V-2 ¢A 100 50 70| 4 12 34V +1 v9 -170 50 7.0
13 1 34S-1 *A -50 50 70| 4 6 24V= &4 -110 20 100 5 7 3NN-4 a5 -200 2.0 10.0
8 14 3v V= 43 -140 0.0 12.0| 9 10 2NS-3 a4 -300 0.0 12.0(10 11 44 V= ¢ A -620 0.0 120
4 483 Bésta kontrakt 5 a- Bésta kontrakt 6 a4 Bésta kontrakt
Vast v 9532 3v N =140 Nord v 9832 54 N D -1 -200 Ost v DKn1096 44 O D -1 200
Alla + ED9 NS + Knl102 ov + E8752
*E765 & ¢ v & NT #KKn10842 & ¢ v & NT SEK & ¢ v & NT
4 Kn654 4 KD1097 N9 8 9 6 7 | 4EKN109764 4D52 N 10106 3 4 4 EKN109 4 D6532 N6 6 103 3
vKKn8 vD6 S9896 7 |vi10 vED7654 S 10106 3 4 v73 vE2 S 6 6 103 4
¢ Kn103 ¢ 654 045376 | 873 + D6 O3 3 6 108 ¢ KKn1094 ¢ D 076395
*K84 #Kn102 V 4537 6 | #E3 #96 vV 3 37 108 #Kn8 #97542 V76395
aE2 4 K83 & K87
vE1074 v KKn v K854
+ K872 + EK954 +63
«D93 «D75 #D1063
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 6 2y N+1 K 140 120 0.0(13 3 54DN= «Q 750 120 00| 6 8 4y N+1 ¢Q 450 12.0 0.0
5 7 INN+1 4K 120 100 20| 4 7 54N-= «Q 600 100 20| 2 9 4vy N= +Q 420 6.0 6.0
1 8 2vS= 4 110 80 40| 5 1 3s4V-1 v] 50 80 40| 4 7 4vyN= +Q 420 6.0 6.0
4 12 INN= oK 90 6.0 6.0(14 10 24 O= *J -110 6.0 6.0[11 12 4v N= 43 420 6.0 6.0
9 14 3v N-1 & K -100 40 80| 6 8 34V= +J -140 30 90(13 3 4vyN= +Q 420 6.0 6.0
13 2 4vS-2 a4 -200 20 10011 12 34 V= *J -140 30 90|14 10 4vy N= +Q 420 6.0 6.0
10 11 3NS-3 a5 -300 0.0 120 2 9 54DN-1 &8 -200 0.0 120| 5 1 2¢v N+2 42 170 0.0 12.0
7 4542 Bésta kontrakt 8 & K102 Bésta kontrakt 9  EK102 Bésta kontrakt
Syd vEK 3v V =-140 Vast v 104 3v V =-140 Nord v EKn85 44 N =420
Alla + Kn64 Ingen + D1063 ov 4 Kn542
#EKN1076 & ¢ v & NT #E987 & ¢ v & NT *3 & ¢ v & NT
498 ~E3 N6 4487 464 & EKn5 N56 376 «D3 4654 N9 9 9 109
v 975 vDKn8632 S 6 4 4 8 7 vE753 vKn986 S56 375 vK1076 vD42 S99 9 109
¢ EKD10 ¢ 985 06 9955 ¢ EK97 ¢54 087 967 ¢ ED87 ¢1063 04 4 434
#K983  #D2 V69955 %632 #KDKn4 V87967 #1092 #D874 V44434
4« KDKn1076 4 D9873 & Kn987
v 104 vKD2 v93
732 + Kn82 + K9
#54 #105 #EKKnN65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 11 5v O -2 &5 200 120 00|12 1 3NO-2 47 100 120 0.0| 8 10 3NN+1 &7 430 120 0.0
3 10 24 S= T 110 100 20| 6 2 4v0O-1 a7 50 80 40| 6 9 44 S= v6 420 100 2.0
6 2 4v0-1 «5 100 70 50(13 4 4v V-1 *A 50 80 40| 4 11 3NN= v2 400 70 50
13 4 49 0O-1 K 100 70 50(14 11 4vO-1 48 50 80 40(12 14 3NN= a4 400 70 50
12 1 34S-1 *T -100 40 80| 3 10 2#0= &T -90 40 80| 1 2 2vN= 45 110 40 8.0
7 9 2v 6] +1 aK -140 20 100 7 9 1v V+3 *A -170 20 100 7 3 3NN-1 46 -50 1.0 11.0
5 8 44DS-2 +A -500 00 120| 5 8 4v0O= &T -420 00 12013 5 34 N-1 vQ -50 1.0 11.0
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10 4 D106 Basta kontrakt 11 493 Basta kontrakt 12 4 Kn9g84 Basta kontrakt
Ost v 9865 34 O =-140 Syd vKn74 3NT V =-400 Vast v 765 4v V =-420
Alla ¢ K75 Ingen ¢ E965 NS ¢ Kn1062
«D109 & ¢ v & NT #9854 & ¢ v & NT #DKn & ¢ v & NT
2Kn754 K983 N6 4745 «EK106 4D74 N55 444 103 « K752 N8 6 364
vK102  vKn7 S64745 v 983 vEDG62 S66 444 vEDKn1094 v832 S 86 36 4
¢ EDKn4 + 963 0786 97 ¢+K102 +874 077999 ¢E4 ¢ K753 O5 6 107 9
*Kn6 *EK32 V796938 #EDKn  #732 V7798929 *K54 #109 V56 107 9
aE2 4 Kn852 +«ED6
vED43 v K105 vK
41082 ¢ DKn3 + D98
#8754 *K106 #E87632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 2 3NO-3 vQ 300 120 00| 1 14 3NO-2 +3 100 100 20| 5 12 3vO= *Q -140 100 2.0
12 14 34 O-2 8 200 100 20| 2 3 3vV-2 +Q 100 100 20| 7 10 2v V+1 *Q -140 100 2.0
4 11 24 O0-1 8 100 70 50| 7 10 3NV-2 ¢6 100 100 20(13 6 2vV+1 *T -140 100 20
13 5 3NO-1 v3 100 70 50| 5 12 INO= +5 -90 6.0 60 2 3 2vV+2 *Q -170 40 8.0
7 3 Pass 30 90| 8 4 2NV= *9 -120 40 80| 8 4 3vV+l *Q -170 40 8.0
8 10 Pass 30 90| 9 11 INV+2 +5 -150 1.0 11.0| 9 11 2v V+2 *Q -170 40 8.0
6 9 14 0+1 *T -110 0.0 120(13 6 2NV+1 ¢ A -150 10 110| 1 14 4y V+1 * -450 0.0 12.0
13 &D Bésta kontrakt 14 & K1097 Bésta kontrakt 15 & KKn3 Bésta kontrakt
Nord v EKn8762 44 O D-2500 Ost v D52 6NT S =990 Syd v Kn9 2NT S =120
Alla ¢ EKKn4 Ingen + EDKn6 NS + Kn82
»E8 & ¢ v o NT +104 & ¢ v & NT #EKn1042 & ¢ v & NT
4 EKKN97653 484 N9 9 104 5 453 « EKn64 N 9 128 1112 4E10986 47 N6 7 7 838
v- vKD43 S99 104 5 vKnl06 v98743 S 9 128 1112 v 108 v 5432 S6 7788
496 410532 043386 ¢ 843 2 041421 4109 ¢ EK543 06 6 454
#D105 #Kn92 V43386 #D9863 #Kn52 Vial421 #KD76 %985 V66454
+ 102 « D82 « D542
v 1095 vEK v EKD76
¢ D87 ¢ K10975 + D76
*K7643 *EK7 3
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 7 4v N= 8 620 120 0.0 9 5 6NS= 3 990 110 10|11 1 3NS= «7 600 120 0.0
9 5 44DV-2 ¢K 500 100 20|14 2 6NN= v3 990 11.0 10( 4 5 2NN+1 «7 150 100 2.0
6 1 4e4V-2 A 200 80 40| 6 1 64 S= 8 920 80 40|14 3 INS+1 T 120 8.0 4.0
14 2 3v N+1 8 170 60 60| 3 4 44 N+1 +2 450 50 70| 9 12 4vS-1 *T -100 50 70
3 4 5vN-1 48 -100 40 8.0(10 12 44 N+1 v9 450 50 70(13 8 24 N-1 *A -100 50 70
8 11 24 V+1 ¢ A -140 20 100| 8 11 3NS+1 3 430 20 100(10 6 2#N-2 a7 -200 2.0 10.0
10 12 5vDN-1 #8 -200 0.0 12.0({13 7 4e¢ N+2 A 170 0.0 120 7 2 3#N-3 *A -300 0.0 12.0
16 4107652 Basta kontrakt 17 a- Basta kontrakt 18 4 E109652 Basta kontrakt
Vast v- 24 ND-1-100 Nord v 10862 64 O =-980 Ost vKD2 5NT S =660
oV ¢ EKn93 Ingen + EK103 NS +9
#EK94 & ¢ v & NT #106543 & ¢ v & NT #ED4 & ¢ v & NT
«EDKn4 498 N7 7577 « EKDKNn753 #1096 N6 7000 474 « DKn8 N9 117 1111
v D52 vE10764 S77577 v KDKn vE974 S67000 vE10985 vKn643 S 9 117 1111
¢+ K10762 +8 O6 6 856 +6 ¢ D94 06 5 111211 *4 ¢ D875 041622
*7 #D10852 V66856 *K2 *E97 V6 5 111211 #K10987 %32 V41622
4 K3 # 842 4 K3
v KKn983 v53 v7
+ D54 ¢ Kn8752 ¢ EKKn10632
#Kn63 #DKn8 #Kn65
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
9 12 2vDO-3 4K 800 120 0.0(10 1 24 O+3 *A 200 120 00| 8 3 3NN+2 v3 660 120 0.0
10 6 2vDO-2 43 500 100 2.0(11 7 44 V+1 *5 -450 100 20|11 7 44 N+1 v4 650 100 2.0
7 2 2v0-2 ¢4 200 80 40| 8 3 5NO= 5 -460 80 40| 4 14 3NN+1 vJ 630 8.0 4.0
4 5 24 N= +8 110 6.0 6.0[13 9 44 V+2 *A -480 6.0 6.0(10 1 34 N+2 v4 200 6.0 6.0
13 8 2v0-1 3 100 40 80| 4 14 64 V= *A -980 30 9013 9 4¢ S= vA 130 40 8.0
14 3 24 N-1 +8 -50 20 10012 2 64 V= *A -980 30 90 5 6 3NN-1 v6 -100 1.0 11.0
11 1 34 N-2 +8 -100 00 120 5 6 64aRDO= «Q -1620 0.0 120(12 2 54 N-1 v3 -100 1.0 11.0
19 4985 Bésta kontrakt 20 ~ E84 Bésta kontrakt 21 43 Bésta kontrakt
Syd v K943 la V =-80 Vast vED107 4¢ N =130 Nord v D54 3v O =-140
oV + K10743 Alla ¢ E9432 NS + K8
*6 & ¢ v o NT *E & ¢ v & NT #EDKn10965 & ¢ v & NT
«EKnl10 D743 N76556 4 D75 » K962 N 10107 8 8 4 EDKNn5 4K6 N8 2464
vEKn65 v1072 S7 7666 vKn6542 v K98 S 10107 8 8 v Kn8 v K10973 S81354
¢ED ¢ 9652 06 6 7 76 + K8 ¢+ D76 033544 ¢ 107642 ¢ EDKn9 O5 109 7 5
#D754  #Kn8 V6677¢6 #D42 #1085 V33655 82 &73 vV 5109 7 5
« K62 «Kn103 41098742
vD8 v3 vE62
+ Kn8 ¢ Kn105 +53
#EK10932 #KKn9763 *K4
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 10 INV-2 6 200 120 00| 1 3 1e N+4 8 150 120 00| 1 9 3&#N+1 v7 130 12.0 0.0
6 7 2&N+1 v6 110 100 20| 5 14 2NN= vK 120 100 20| 7 8 3#N= v7 110 9.0 30
11 2 2v V-1 6 100 80 40(13 10 14 N+2 «6 110 80 40(12 3 3&N-= «6 110 9.0 3.0
12 8 2#S= v5 90 60 60 6 7 3NS-1 v5 -100 50 70(14 6 5¢ V-2 3 100 6.0 6.0
1 3 24S-1 *4 -50 30 90| 9 4 3NN-1 9 -100 50 70| 2 4 4¢0-1 *K 50 40 80
9 4 34S-1 & A -50 30 9012 8 3NS-2 v4 -200 20 100(13 11 44S-1 +J -100 2.0 10.0
5 14 24 V= *A -110 0.0 120|11 2 3NS-3 v4 -300 0.0 12.0[10 5 3¢ V+1 3 -130 0.0 12.0
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U1 Z

22 4 KKn1073 Basta kontrakt 23 4 K7642 Basta kontrakt 24 4109 Basta kontrakt
Ost v KKn8 3NT O =-600 Syd v 65 7y V =-2210 Vast v KKn64 3v N =140
ov +3 Alla + KDKn10 Ingen + KKn9764
&E964 & ¢ v & NT K3 & ¢ v & NT &8 L Y
4E942 4D8 N6 356 4 453 « EDKNn9 N25042 & EKn8 & D752 N59 97
vE4 v D972 S6 356 4 v EK10 v DKn932 S25042 v E103 v 85 S5997
+ K87 ¢EDKNn104 O 6 9 7 6 9 +E3 4982 O 118 139 11 +D10853 +¢2 08436
&#DKn72 %85 V 6 108 7 9 &#D97542 &E V 118 139 11 92 &#DKnl1l0654 V 8 4 3 6
465 4108 4 K643
v 10653 v 874 v D972
¢ 9652 ¢ 7654 ¢ E
#K103 #Kn1086 #EK73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 5 3v0O-3 &3 300 120 00| 3 5 4v 0= aT -620 120 00| 3 5 2vy N+2 *2 170 12.0
14 6 2¢ O-1 46 100 100 20 1 4 3NO+1 LX) -630 100 20| 2 10 3NS-1 LY:] -50 7.0
2 4 2¢ O+2 46 -130 80 40|13 12 3NO+2 48 -660 70 50| 8 9 2vS-1 &9 -50 7.0
12 3 3NV= L Y] -600 50 70(14 7 3NO+2 aT -660 70 50|11 6 2vS-1 +3 -50 7.0
13 11 3NV= aT -600 50 70| 2 10 4v O+2 aT -680 20 100|113 12 4v N-1 *2 -50 7.0
1 9 3NV+1 *6 -630 10 110 8 9 4v O+2 48 -680 20 100| 1 4 3vsS-2 &9 -100 1.0 1
7 8 3NO+1 v5 -630 1.0 11.0(11 6 4vy O+2 aT -680 20 100|214 7 3NS-2 +8 -100 10 1

(kg
ooooooo
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